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m = 20 kg, k = 4000 N/m
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3. (a) wn = 183 rad/s, C

2. keq =

= 0.273, w« = 1.76 rad/s

(b) x(t) = 057 €°° sinl1.76t mm
4, Wn = —ng—
5. (b) mx+ cx+ kx = 0
© o= £,
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1. (b) reeax = 0.707
2. (a) xp(t) = 3.33 cos10t
(b) xp(t) = 2.87 cos(10t - 0528) mm
(c) x(t) = 2987 *** sin(15.2t + 4.121)
+ 2.87 cos(10t - 0528) mm

(€) Xmax = 115
mm

4. =005
1. (@) k = 14.0 KN/m (b) ¢ =0.201
(c) T =0242 s
2. (@) x(t) = 15 (t - 05 sin2t) m
(b) x(t) = 75 + 0.75 [sin2(t-5) - sin2t] m
_1, 1 - A
3.f(t) = 2t ”(cost+ sint) + 7[3|n2t

+ 3—17[(- cos3t+ sin3t) + ...
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(b) w1 =0 = 173 rad/'s
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5.t =0.181 s, 0.S. = 0326 mm




